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Intermediate Modern Hebrew

Attempt ALL questions.

1. Read the passage and answer the following questions in Hebrew:

(20 Marks)
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2. Translate the following passage into Hebrew: (30 marks)

Many people believe that bad behaviour of children is caused by the way their parents
relate to them and by their living conditions. Recently, a journalist wrote an article in a
newspaper and stated that he thought that this was true only of children up to the age of
nine. He felt that older children are influenced more by relationships outside the home. He
wrote that most children in the western world choose their heroes from outside the family
and develop the sort of behaviour that makes them popular in their social circles. The
journalist wrote that in his opinion it is important to teach parents to consider this when
they decide which secondary school to send their children to and who their children play

with. The next day, the same newspaper published many letters from angry readers.

3. Write an essay in Hebrew (200-250 words) on ONE of the following topics: (35
marks)

(a) What you know about the Ethiopian Jews.
(b) Your time at university, in London.
(¢) Your plans for the summer holidays.

(d) Eliezer Ben Yehuda’s contribution to Israeli culture.

4. Change the following sentences from active to passive: (5 marks)
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5. Insert the correct form of the verb in brackets into the following
sentences. Write your answers on the exam paper in the space provided:
(10 Marks)
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